First Semester ( 2016-2017)

First examination
Morning Study

	Q1
	Consider the control system with forward-path transfer function                     
G(s) = 
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 and PID controller transfer function Gc(s). Using a 
 Ziegler-Nichols tuning rule, find the  transfer function of the PID controller.

	Q2
	For the unity control system with the pulse   
transfer function   G(z)=
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   and sampling time (T= 1 sec.),  calculate the discrete step response by using difference equation method.



With Best Wishes
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